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Digital Switch i ng,,,,$.$stems
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(08 Marks)

(04 Marks)
24 channel frame

(08 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

(04 Marks)

(06 Marks)
(08 Marks)

[00 outgoing trunks.
(06 Marks)

(i) The outgoing traf,fics
(ii) The incomffiqaffic
(iii) The total.trdffib

What is grading? Explain any fwo types of gradingS. ,?,-,,,.,',:r,,

Derive au-.bxpression for grade, bf s'ervice of a 3 stage,.network.

Derive a 3 stage network for connecting 100 incoming trunks to

Explain in'brief Basic Software Architecture used in Digital Switching Systems.

Explain in brief call models and connect sequence.

Describe the various or$a'n'izational interfaces of a typical DSS central office.
Explain with a neat diagram a strategy for improving software.

Explain in briefl[i'5{eric switch hardware architecture.
Explain in brief'c'Ommon characteristics of a Digital Switching System.

'Write a short note on Recovery Strategy.

(08 Marks)
(06 Marks)
(06 Marks)

(14 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

Note: Answer any FIVE full questions, selecting ot least Tll/O questignsfiom each part.

--.5T l,,-'BART - A ,,,,,:.,.::;:,rjii

Explain the principle operation qf:4..frtir wire circuit with ne,pt diagram.

(i) I mw (ii) 1 w (iii) 2mw (iv) 100 mW
Explain the PCM primarylqglultiplex with neat diagram (30 channel or
format anyone).

Explain in brief diffd*it functions of a switching system.
Exp lain distributiiin,frames in stron ger excharrgli,with neat diagram.
Explain basio, ce-ntiel office linkages with suitable diagram.

Define arid."ipiui" the following terms:
(i) Traffic intensity (ii) Grade of service
(iii) Busy hour (iv) Occupancy (06 Marks)

From the basic princrples olquerring systems, derivg,.,t$r.&uation arlliler,*"". 
i?51?i?;,. j .... 'j.

On an average, during ftijtibsy hour a comph4$:makes 180 outgdin! calls of average

duration of 3 minutes, if{€6eives 400 incominglalls of average duration 6 minutes. Find:

4a.
b.
c.

6a.
b.

PART _ B
a. Draw and explain the operation of time switch implementation.
b.',Discuss the need fof'frame alignment in time division switching networks.
c. Explain single endetl unilateral and:bilateral synchronization system.
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